EARAROBEEIERT — 2 N— IBISH —F

20145128318 (k) 16EI%4A4H

mﬂﬁ%c 1248 C12 4#5%—# BRI R
[AE4£] 1% :130,000 ™ ~ 2#%:26,000”  3#%&:13,000”  4%&:0MH / 5&:0M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
NEPIEN ETIEs :31. —-2-1- . — JIUGBAE (5542)
14 ZXTU R 3 o 1(3_1)6 2-2-1-1 | 38.7 1 :7;) e A
LTINTFINZL2 B:IIF1T7R BARREES BSBE RS
= i 5 | ARES 1:32.2 3-3-3-2 | 39.1| — 6 444 | NEREEER (S5HA)
2l7| 7|7V 7EZ I 54.0 ®) 1 () J P NHH
L:ZgrT Mt —T7—K=FK B:7LNT75T71—% MEE
. 1ERERA : —4-5- - HEZE (5#3)
s o w4y KT I— 4 3 e 1.(322>.6 5-4-5-4 | 39.2 3 <4_323) i A
R:TSATLXEA L BieA Uy KTLA L FEHIS
— N RS : -5-4- — IRRZE (%)
algle | 7OF1TIM—2 i 3 Ll 1(.13/22.)7 4-5-4-4 | 39.5 5 ;1_7;) e A
G147 bh)— B:TULEXIIH IRt hSILZ &y K
< T HZ 132. -9-7- . — EESER (554)
1 6 FIREEENS fo5 | HITH | 312/29) 8-9-7-7 |39.2 7 :1):38) IR (i
LR T b F =T —A—F B:YeI—hyiay HE —t
N IR :33. —6-6- . = HEER (1)
6laliol vy x5 it 4 54_0A 1(33/34)1 7-6-6-6 | 39.6 10 ?g? i A
LT R2AYL—> B:T7I—YIXF INHISH T 7— L4
. EHERE : -10-10- - IR R (%)
IRIRREL A o4 s 1(73?:; 10-10-10-10| 38.2 4 <3+915) A A
LBALINT Ry IZ BHYETIY HR Bk
S o4 | ZBEEZ 1:33.4 6-7-8-8 |39.6| — 9 436 | FREERSST (S2H2)
glz| 8| T—¥~%53 0 (1172) 4y | BEBX
R:YIRGT4 TS5 BLELRFH-IL AW
1S A 4 4 | Blafnt 1:33.5 9-8-9-9 |39.4| — 8 462 | BANEE (%)
9(5|5| X7V >T%vT2R 54.0 (7E) (-a) W) 772 hETa>
L7 RRA Y2y 72 B:XTVTTUH b N
55 p 4 3 | EB# 1:34.2 1-1-2-2 | #1.5| — 2 484 | KEEEE (51)
EH 3| AT v —K=T7 56.0 3) (t4) | BBWX :
LT ReA YT vy B:¥ w7 /30w RaIER  SRThiE
® 1—F—@EBIERL
1T=7r= 3,4,7,9,2,8,10,6,5,1
2a=5F= 3,4,7,2,9,10,8,5,6,1
Ja=5= 4,3,7,9,2,10,6,8,5,1
AT =5F= 4,(3,7),(2,9),10,6,8,5,1
[ N5
B OB 4 1500 | | 714 K 4-7 550/ | | # E 4-7 1,250 | | 3:&4E 2-4-7 860/
B B 4 110H 2-4 150H B = 4-7 1,640M JEE 4-7-2 3,180M
7 880H 2-7 760M B H 4-7 2,320M
2 1309

ABICOVWTRDTEEERROODE. TR LIV,




